PRZEKROJE POPRZECZNE

0+0.00
N = 0,00 m2 W= 286 m2
|
f
pp=180,00 7
RZEDNE PROJEKTOWANE 2 2 g
RZEDNE ISTNIEJACE 2 2 s
ODLEGLOSCI 2 8 g
0+9 76
N = 0,00 m2 W= 088 m2
pp=180,00 7
RZEDNE PROJEKTOWANE 2 2 2
RZEDNE ISTNIEJACE 2 g 3
ODLEGLOSCI g S g

PRZEKROJE POPRZECZNE
0+9,76
N = 1,68 m2 W= 142 m2
pp=180,00 7
RZEDNE PROJEKTOWANE 5 2 2 2 2
RZEDNE ISTNIEJACE g M 3
ODLEGLOSCI 8 S S 8 3
0+28,51
N = 591 m2 W= 000 m2
7
pp=180,00 7 7
RZEDNE PROJEKTOWANE 2 = 3 = N
RZEDNE ISTNIEJACE 3 S 5
ODLEGEOSCI 3 8 8 S 8




